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Topic:- General Knowledge and Logical Knowledge

1) Which neighboring country of India was referred to ‘Serendib” by the Arabs? / HIRd ¥ forg

TSI 3% B SR A WIS FHT UT?
1. Myanmar / AR

2. Sri Lanka / iciap

3. Nepal / urd

4, Pakistan / OTf &=

Correct Answer :-

e Sri Lanka / #tcieT

2) Which deity is worshipped at the Tirupati temple in Andhra Pradesh? / 3T 8 UG | fosufa

wifeR & fore Saar 3 ge o) STl 82
1. Ganesh/‘TﬁQT
2. Shiva/ﬁla

3. Indra / 5%
4, Balaji / STcITSIt

Correct Answer :-

« Balaji / STcITSIt

3) What do these have in common - Kapil, Dhara, Mandhar, Dunwadhar? / Hiud YRT, HYR,
TR & 7T U1 87

1. All are tributaries / G4 RIRIRERD '_‘lﬁtﬁ%
2. All are estuaries / GHI SdRIqHY %
3. All are deltas / FHT S %

4. All are waterfalls / IHT sR?r %’
(2)



Correct Answer :-

o All are waterfalls / GHT §Ref %

4) If MEAT is coded ZRNG, then how is TEAM coded? / dfé¢ MEAT @ ZRNG q Difsd foar

SITdT 8, @ TEAM S 9 Pifsd far SR
1. GNRZ
2. ZNRG
3. GNNZ

4. GRNZ

Correct Answer :-
¢« GRNZ

5) Arundhati Bhattacharya is the first woman Chairperson of which bank? / St ‘J-IE'EIT&, o

& $ yyw Afgar e g2

1. Canara Bank / =R §&

2. Axis Bank / m %

3. State Bank of India / %¢T S 3Tt §fSaT
4. ICICI Bank / STSSI3S IS &

Correct Answer :-

« State Bank of India / @?% 3#55 g%ﬂT

6) The largest dam on river Narmada is / T'I'l:’-IET q?f TR g EIc G %:
1. Barna dam / SRAT S1Y

2. Tigra dam / forRT iy

3. Bargi / S

4. Sardar Sarovar / ¥RGR WIaR

Correct Answer :-

« Sardar Sarovar / ¥RqR IR

7) The new National Health Policy was approved by the Union Cabinet in | FEg HHHsd A
Tt It TR a1 H argHie frar mar o |
1. 2014

)



2. 2002
3. 2010

4. 2017

Correct Answer :-

e 2017

8) Who is the Governor of the Reserve Bank of India? / WW%%W@H%’
1. Y.V. Reddy / dTs. o, X!

2. Montek Singh / %ﬁl—@'

3. Raghuram Rajan / XYRTH o

4. Urjit Patel / 3o ued

Correct Answer :-

o Urjit Patel / 3 ofd ucd

9) Who was the founder of the Bharatiya Janata Party? / YR ST U1} & TRITIS HI 32
1.V D Savarkar / dl SI AR

2. Atal Bihari Vajpayee / 3{cd fogR! gt

3. Syama Prasad Mukherjee / RUTHI UHIq Wﬁﬁ.

4, Lal Krishna Advani / €Tcl 07 3TSaTOlt

Correct Answer :-
o Syama Prasad Mukherjee / RTHT Ydlq %Gﬁ

10) Who is the first Indian Woman wrestler to win an individual medal at the Olympic Games? /

3efie @al § aafwiTda Ugw Shaq aredl Uge YR afer ygaar &4 82
1. Sakshi Malik / 9t Afcrs

2. Kavita Dalal / S {ddl GalTel

3. Geeta Phogat / Tdl TITIE

4. Babita Phogat / SSIdl BRTIC

Correct Answer :-

o Sakshi Malik / 1&ft #fcTe



11) In India, Petroleum was first struck in / HIRd ﬁ, JAYYH ﬁg’ri%mn 'CIET@ fHrpTar waT U
1. Digboi / f&TaS

2. Koyali / ®1gal!

3. Ankleshwar / {HALR

4, Bombay High / E\@Bﬁ

Correct Answer :-

« Digboi/ fSTas

12) Find the odd one out: / Th faum 3id W:
2,4,12, 20, 30,42, 56

1. 30

2. 20

3.56

4.4

Correct Answer :-

13) villages from which of the following districts have been included in the Climate Smart Village

Project?/mﬁﬁmﬁa%wﬁmwwmﬁmﬁmwa?
1. sidhi / Ffg
2. Sagar / 9I'R

3. Satna / Id-l

4, Damoh /Eﬂﬂ%’

Correct Answer :-

» Satna/Id-l

14) In which district are the Bhimbetka caves? / Wadesr 1103113 o d %'?
1. Gwalior / qTferR

2. Ujjain / S

3. Sanchi /ﬂ'i?ﬁ

4, Raisen /TI'CI@:T

®)



Correct Answer :-

¢ Raisen /TI'CI@:T

15) If DOOR is coded FQQT, then how is WINDOW coded? / Tfé DOOR &1 Foqr A Pifed far sirdr
g, dl winpow B & Hifed far SRm?

1. ZLQGRZ
2. YKPFQY
3. YKPEPY

4. YIPEQY

Correct Answer :-
o YKPFQY

16) How many different six letter words can be formed using the letters of the word 'ORANGE', if
repetition is not allowed? /ﬂﬁgﬂ?@ﬁ[ GA| &ﬂ'qﬁ T-I'Eﬂﬁ @l ‘ORANGE’ o & G{&Iﬁm TN
Fd g¢ fpam fafta o sier x5l &1 Fwfur gy awar g2

1. 600
2.720
3. 360

4. 480

Correct Answer :-
e 720

17) Two different numbers have the same two digits but in the reverse order. If the sum of the digits
is 5 and the difference between the numbers is 27; find the two numbers. /33f e wamen & gHHE ?f
3% g WX ufaera wu o 71 afe sl &1k 5 § 3R gl el & o &7 ofav 27 §; at gl
HEIT3{ B [T DL |

1. 36,63

2.27,72

3. 14,41

4. 15,51

Correct Answer :-



18) Find the next expression in the series: / WET ¥ 3rTd L[} aﬁsnaﬁﬁrq

A, AAC, AAACCE, 2
1. AAAACCCEEG

2. AAAAACCEEG

3. AAACCCCEEEG

4. AAACCCCEEG

Correct Answer :-

e AAAACCCEEG

19) Complete the series choosing the missing number: / & T&T GAH YT B [T

PIfC:

512, ,16,8,8,
1.216

2. 64

3. 48

4. 160

Correct Answer :-

20) Complete the series choosing the missing number: / T G-I AR YTaAT BT [T

ST

3,18, 38,63,93,128,
1. 148

2. 138

3. 168

4. 140

Correct Answer :-
o 168

21) Complete the series choosing the missing number: / & T&IT AH YT B [T

PifoTg:

0, 6, 24, 60, 120,

()



1.210
2. 200
3. 180

4. 160

Correct Answer :-

« 210

22) Select the option that is true about the Statements and Conclusions given: /39

e o1 9= Fifoe Sife T T HY=Y 3R fAehpul & I & I8! 8:

Statements: / PY-:
Some parrots are not birds / $© dld Uefl T8 g
All parrots are pigeons / T4t GG PIAR g

Conclusions: / fea:

I. Some pigeons are not birds / $& Hax Uell TE &
I1. All pigeons are parrots / T EZEGR GG %

1. only conclusion II follows / ad fSHY 11 TRV BT §
2. only conclusion I follows / Had Y I STERUT FRal §
3. neither conclusion I nor conclusion II follows /7 & fA55Y 1 3R 7 & fswt 11 ST FRA 8

4. both conclusion I and I follows / FT5RY 1 3R 11 G STTHRUT hd g

Correct Answer :-

« only conclusion I follows / Had ey | &WW%

23) Select the option that is true about the Statements and Conclusions given: /39

APy &1 99 Hifere Sife oy U SU=T 3iv fArepuf & IR # I8 §:

Statements: / $Y:
All covers are envelops / I FHaz freTe §
All cards are envelops / Il 1€ foreTh &

Conclusions: / faeh:

I. Some cards are covers [ PO BIS PAT &
I1. No card is cover / ﬁﬁ?ﬂ@fﬁ?ﬂﬁ%

1. only conclusion I follows / Wﬁ'@ﬁh WW%

2. only conclusion II follows / Fad ey 11 SR W%

3. neither conclusion I nor conclusion II follows /- _sgf ﬁ'@ﬁﬁh GﬁT Cl ﬁ ﬁ'@ﬁﬁf IT 307 W_&}[ %
4. both conclusion I and II follows / Aepy 1 eiR 11 Eﬁ:ﬁ ST Hd %

8)



Correct Answer :-

« neither conclusion I nor conclusion II follows /7 &1 fmd 1 3R 7 &} feesf 11 SR R g

24) Select the option that is true about the Statements and Conclusions given: / 39

fapeu &1 99 Hiforg wife few e SU=T 3w el & TR # I &:

Statements: / PY:
All students are intelligent / g s g@nﬁ %

Ramu is not intelligent / I fSwH 78 @

Conclusions: / fsp:
I. Ramu is not a student / TIEWH?[%
II. Ramu has to go to school / Tl'li[ﬁ CRIGRESIEI] u%Trr

1. only conclusion II follows / Had 5B 11 GWUTW%

2. only conclusion I follows / Had =y | WW%

3. neither conclusion I nor conclusion II follows /- éjf ﬁmﬂh SﬁT '_-IBQI ﬁﬁb_ﬁf IT 3{JH0T Wﬁ %
4, both conclusion I and II follows / fAspy 1 3R 11 _Ca:ﬁ WW%

Correct Answer :-

« only conclusion I follows / Had ISRy [ 3HRUT BT §

25) Select the option that is true about the Statements and Conclusions given: /39

fapeu o1 99 Fifee Wi AT e FY=T R frehuf & I8 & 981 8:

Statements: / ®Y:
All roses are lilies / T} ara fereht &
Some roses are red / P elld €Tl ?

Conclusions: / fswt:
I. Some lilies are red / Wﬁféﬂﬁlﬁ%
II. Some red are lilies / & AT el &

1. only conclusion II follows / adl s 11 ST pdl g

2. only conclusion I follows / Had Y 1 ST HT ?

3. neither conclusion I nor conclusion II follows / 7 &1 fAwme 1 3R 7 & fAeewsf 11 ST A
4. both conclusion I and II follows / FspY 1 3R 11 L] WUTW%

Correct Answer :-

« both conclusion I and II follows / f5pY 1 3R 11 a-l:il' GWUTW%

26) Who is the author of the book ‘The Discovery of India’? / 'MRd &I Giol' & WGP
DI 8?
9)



1. R.K.Narayan / 3(R. &. TR0

2. Mahatma Gandhi / HgTT et

3. Jawaharlal Nehru / STaTEIATd g%

4. Arundhati Roy / SRE&G 1Y

Correct Answer :-

« Jawaharlal Nehru / STATERTE g%

27) Name the religious movement started by Emperor Akbar in the late 16th century /

16¥ TraTed) ¥ oid A T1GTE PR §RT Y= fpd T uTfife Srigier o1 =9 gard|
1. Jizya / STToTaT

2. Jauhar / NG

3. Din-i-Ilahi / &H-T-SdTg!

4. Kharaj / RSl

Correct Answer :-

e Din-i-Ilahi / EF-T-3cTe!

28) A member who is elected to the Rajya Sabha for a full term serves for a period of
./ R PRIGTA & (AT IsaqUT § g1 STHarer U6 J6s P Al & g Jara
g g |

1.5 years/SH'Ef
2. 2years/2a'5f
3. 7years/7a'5f

4. 6 years / 6 %

Correct Answer :-
« Gyears/6 ¥

29) National Defence Academy is situated in ./ !T@Tl T&T BTGHI
g | fRa 71

1. Uttarakhand / ScRGS

2. Assam / IH

3. Tamil Nadu / I

4, Maharashtra / HEIRTSC

(10)



Correct Answer :-

e Mabharashtra / HEIRSC

30) The series given below contains a sequence of humbers. Identify the incorrect

combination: / T & 71§ @ ®, TEASH FT TS HH UG & | Tad FAIo UgIT;
121, 143, 166, 187, 209

1. 187

2. 209

3. 166

4. 121

Correct Answer :-
e 166

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 12 & T gEar §, WIS BT TS B UMK & | Toad TSI UgaTg:
5, 17, 37, 65, 100, 145

1. 100

2. 145

3.17

4. 65

Correct Answer :-
e 100

32) McMahon Line demarcates the boundary between / ﬁmﬂw ’ Td
ot W 3 fyufora wwar 21

1. India and Pakistan / HRd Td Ulfred

2. India and China / 'J-I'R?an?ﬂ:[

3. India and Nepal / HRd od Ut

4. India and Bangladesh / HRRd 455} W

Correct Answer :-

e India and China / HRd Qafﬂ:[



33) Vivekananda founded the Ramakrishna Mission at | faa@Tg = I i
BT RITIAT H o

1. Kanyakumari / Eb_-q@ﬂm
2. Belur /é?g

3. Howrah / gldsl
4, Chicago / BEgR

Correct Answer :-

. Belur/aﬁ:\’

34) Complete the series choosing the missing letter/s: / &R/ AERT B ESEREICGI | qg‘raﬂﬁq
a__bbc__aab_cca_ bbcc

1.b,a,c,b

2.3,¢,b,a

3.¢,a,b,a

4,3,b,b,a

Correct Answer :-

35) Who is known as the 'Father of White Revolution' and 'Milkman of India'? / ﬁﬁ
A9 pifd & TP T Rerd= 3w sfear & 9 A ST S« 82

1. M S Swaminathan / TH T AT
2. HM Dalaya / Ud UH gl

3. Tribhuvandas Patel / ﬁw ged
4. Verghese Kurien / G W

Correct Answer :-

» Verghese Kurien / Tiffe W

36) Sardar Sarovar Dam was envisaged by / TIER IRIGR i Pt URHUAT 3514 Bt At
1. Indira Gandhi / SfeRT TTieil

2. Jawaharlal Nehru / STATERAT "8
3. Maneka Gandhi / fFIW Trieft
4, Medha Patkar / AT Ul

(12)



Correct Answer :-

« Jawaharlal Nehru / STTEI T A6
37) Find the odd one out: / Th faum BIGH Eﬁﬁﬂ'{:

1. Beautiful and Handsome / {d¥{Xd 3R TER
2. Bother and Worry / lﬂ_ﬁf 3R fofdn

3. Cold and Chilly / 3T 3R 2fiaa

4, Avoid and Seek / CTEAT 3R WIS

Correct Answer :-

¢ Avoid and Seek / CIci- 3R TSl

38) In a certain language /ik Jomb lyns means that great poetand vomb lomb fomb means god is
great. Then in that language the word /ornbis used for: /| Th WTH HIS HTUT ff, lik lomb lyns &1
3 that great poet 3% vomb lomb fomb 1 34d god is great@?ﬁ %l < PIS US| Jomb &
fore fory =1eg 1 STIWTE fovaT 7T 82

1. great
2. that
3. poet

4. god

Correct Answer :-
e great

39) In a certain code language Friends are good is written gont hop feka and Good bye doctoris
written fip hop sek, then how is good coded? / Tdh WTH IS TN § Friends are good Cal gont
hop feka forear srar % 3R Good bye doctor @\ fip hop sek fer=ar sirar % al good P B B
forar SEm?

1. fip
2. hop
3. sek

4, feka

Correct Answer :-



If HPMEFOis coded GOLDEN, then how is GOLDEN coded: / Tf¢ HPMEFO®! GOLDEN | HIfsd
a1 ST 8, 9 GOLDEN &) 8 Fifed forar smavm?

1. FNKDCM
2. FNKCDM
3. FNKCDO

4. FNJCDM

Correct Answer :-

« FNKCDM

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / @i 631 °r & #, 390

o~ T ol - T T e = T
f"“:"u, \"‘- 5 M“ . & ; fr ., ]' &
||. \ |q i # '!, ‘l' ", ”ﬁ ’lr , L.
| e “ qi - 4 I 1 ‘I )" H v.‘\ "
'l"-.\!‘.,f" .F ) ) "‘ o / ' { " . 'J "-._,_'m_{,.. E y )
A.:"'-—_, L. i _L . A
! a u1 )

(14)



2)
In the sequence shown below, which figure comes next? / A &3 R &H H, HIreir

| o009
@ | SHe
¥ o909

Tee ere® =)
ooe eSS e oo
e0c 1 o

oo
0oe
=00

LR §
°o0
500

4.

Correct Answer :-

oo0
o9 0
Hee

Reduce ic single fraction: / Tdkel T8ed d& OCBL:

1 1
22 1=
[ 3 4]

L

12

(15)



5
2
12

|

L
-2

)
1=
12
4,

Correct Answer :-

4)
If the following two squares shown below overlap, which one of the following options

is formed? / AT = g7 aaT Ffdena gia €, o FFa 7 ¥ ®i9 97 v Aeeq a=4dr &7

"
H
o) n
1.
)
[ |
2.
[ |
T
3.
[ |
4,

Correct Answer :-
(16)



5) Three years ago, the average age of a family of five members was 27 years. With the addition of a
child into the family, the present average age of the family is still 27 years. Find the present age of the

child. / 191 a9 qd foreft ufvaR & 5 Wowl ot siia oy 27 af Y | uf¥ar & ve s=m sk sg oM
q 379! 3iid 3 3T oft 27 a9 €1 B | 92 &Y I ST AT /2

1. 24 years / 24 dY
2. 12 years / 12 99
3. 16 years / 16 a9

4. 20 years / 20 Gl

Correct Answer :-
e 12 years/ 1299

6) Three friends A, B, and C invested Rs. 20,000, Rs. 18,000, and Rs. 14,000, respectively in a
business. If at the end of the year they got a profit of Rs. 7,800, then the profit share of B would be: /

A, B 3R ¢ 9 fo S9=: 20,000, 18,000 3R 14,000 TUY TTH TH ATIR = Hd ¢ | i a9
& 3id | 32 78,000 TUA HT ATY U BT & af B HT a1 g

1. Rs. 4,200 / 4,200 3T
2. None of the above /QT'Iﬁ @ ?ﬁ—sc '_'I_E?f
3. Rs. 2,700 / 2,700 0T

4. Rs. 3,700/ 3,700 ST

Correct Answer :-

e Rs. 2,700 /2,700 304

7) The present age of A and B are 20 and 50 respectively. After how many years, the age of A will be

half the age of B./ A 3 B 3 TH 3T HHT: 20 3N 50 T4 81 fpa=t 9 a1¢ A Fi 3T B Fi
g &1 et gt

1. 10
2.20
3.5

4. 30

Correct Answer :-

(17)



8) 40% of 250 + 25% of 280 = 50% of 240 +? / 250 BT 40% -+ 280 DT 25% = 240 BT 50% + ?
1. 100

2. 80

3. 50

4.75

Correct Answer :-

9) If the length of a rectangle is increased by 10 %, but the area remains unchanged, then its
corresponding breadth must have been decreased by / T ST ) FIET% 10% dod ararrer TR HPT

getper ufafda w18t giar, ¥9 A g9t diers feat uer gii?

11
9

%

=8

f—t
—

o~

WO |

|
]
o

—
—

4,

Correct Answer :-

10) Tap A fills a tank in 12 hours, while Tap B empties the same tank in 20 hours. If both the taps are
open together, the tank will fill in: / F¢l A U dErP 12U H ‘J-R_CIT%, i Td B I B Bl 20
b H WX UTAT 81 A G I U |1 G §1 dt ¢ WA H 1 HHg g

1. 36 hours 24 min / 36 ©¢ 24 .
2. 24 hours 45 min / 24 ‘EI% 45 ﬁ-f
3, 20 hours / 20 ¥¢

4. 30 hours / 30 ¢
(18)



Correct Answer :-

« 30 hours / 30 G¢

11) Chandan's age is one-third of his eldest sister's age today, but he will be half her age after five
years from today. What is the age of Chandan's sister? / 3{TSl o] DI Sl 3T wa@ APl
T feTE 8,07 31T | 5 ITel 91¢ IS 3ATY AT g8 B 37y P 2mel grft| e &Y w81 Bt
g fpat &2

1. 15 years/ 1539
2.5 years/SaEf
3. 20 years / 1539

4, 10 years / 10 98

Correct Answer :-

o 15years/ 15 Gl

12) A pump fills 1,200 litres of water in a tank, after which it remains 60 % empty. How much more
water should go in to fill the tank to the brim? / T% UW, TP ¢ H 1200 Te= UHT T § foras
q1¢ 98 60% [T I SITaT 8 | 3 TRT WA & fore fova=im ur 8fiR smawae gime?

1. 1,800 litre / 1,800 qte”
2. 1,200 litre / 1,200 die]
3. 3,000 litre / 3,000 qteR

4. 2,000 litre / 2,000 Slex

Correct Answer :-

» 1,800 litre / 1,800 dle”

13) A and B can do a piece of work in 6 days; B and C can do the same work in 8 days; A and C can
do the same work in 10 days. If A, B and C work together, how many days will it take them to

complete the entire work?/Aaﬁ?meaﬁfﬁ?ﬁmaBéﬁTcwmﬁ'Sﬁqﬁ
FRUM G AR AR I P FA T 10 AT TG A, B R c AU AP P Al 14
R 8 ¥ ford=T 99 am?

71—%days! Zl—ﬁ
1 ! 47
5
5 —_days / S—Tea
! 47
2.

(19)



32 32
3—days ! :r—iﬁ—rf
47 ¥ 47

a

3.

4. None of the above / dl-lij,drl kS| d’)\l'{: T8l

Correct Answer :-

5~ _days { -_ﬁ—rr
47 4 47

L

14) A and B together can complete a work in 10 days. B working alone can complete the work in 15
days. How long will it take for A alone to complete the work? / A 3R B T 91y fodt @ P10
T A @RI Hd &1 B P ST FTH B 15 T & R HR UMT 21 A 3PaT 39 S o1 fareq fa
H B U

1. 25 days / 25 T
2. 15 days / 15 f&d
3. 20 days / 20 f&=

4. 30 days / 30 &

Correct Answer :-
« 30 days /30T

15) The surface areas of two spheres are in the ratio of 9 : 16. What is the ratio of their volumes? / E;Pf

Tl & Tdg AFAEel BT SJUTd 9:16 8 | ST AT BT SJUTd foha=T ghm?
1.3:4
2.9:16
3.16:9

4,27 :64

Correct Answer :-
o 27:64

16) Raju sold a chair at a gain of 5%. If he had sold it for Rs. 9 less, he would have lost 7%. What is

cost price of the chair? / TS 5% P ATH TR Th U daal &1 fS 98 39 9 TUA $H A duar a1 39
7% 1 I BYelt | T BT RIS Yoo fha-T 872

1. Rs. 75 /75 30°
2. Rs. 55 /55 S0

3. Rs. 45 / 45 30
’ (20)



4. Rs. 85 /85 ST

Correct Answer :-

e Rs.75/75%0°

17) The average of 10 numbers is 6. If each number is multiplied by 13, then the average new set of

numbers is: / 10 T3 HT 3T 6 B 1 AT UAS &I DI 13 | TN B faar wI1g, @ 3wl & -
YA BT Sd g

1. 58
2.78
3.55

4. 69

Correct Answer :-

18) The average of all odd numbers up to 100 is: / 100 7 ®t G} faww F@mai &1 3NTd fbaan

1. 40
2. 50
3.70

4. 60

Correct Answer :-

19) The average price of gold during last year was Rs. 1,120 per gram. The average in the first five
months was Rs. 1,105. In the next three months, the average was Rs. 1,125. What was the average

price in the remaining months? /A BT aﬁwqm%\ﬂaﬁ 1,120 '\‘W’&/W%I UYH 5 mﬁ
3T 1,105 TUA 31 TR oI HEIA BT 31 1,125 FUA 8| AT AL o7 ST o &1 g2

1. Rs. 1,135 /1,135 300
2.Rs. 1,140/ 1,140 ST
3. Rs. 1,137.50/ 1,137.50 30

4.Rs. 1,130/ 1,130 304

Correct Answer :-

e Rs.1,135/1,135 300



20) The cost of 30 books is Rs. 150. If more than 50 books are purchased, then a discount of 10% is

given. How much will 70 books cost? / 30'3?33%37[13@ 150 U B H%soﬁaffﬁmgﬁ%mﬂ'cﬁ
STl 8, 9 39 W 10% &1 Fe Ferdt 81 70 Tasd! &1 Yo fara=r sm?

1. Rs. 300 / 300 3T
2.Rs.315/315 30
3. Rs. 350 / 350 ST

4. Rs. 335/335 30

Correct Answer :-

e Rs.315/315 30

21) Six years ago, Natasha's age was triple the age of Manasa. Six years later, Natasha's age will be
5/3 of the age of Manasa. What is the present age of Manasa? / 6 G qﬁq?mmﬁ ST {4AT G| S
P I T 1 6 T TTE, TATN BT SR AFTT BT 3T Dt 5/3 THIT | T BT AT Mg fpast
82

1. 12
2.11
3.13

4. 14

Correct Answer :-

22) An article was bought for Rs. 250 and sold at a loss of 5 %. What is its selling price? / T d¥q

250 TTA T WGHR 5% D1 711 W =N o1t B 1 faspa-gea fpam 82

1. None of the above / STRIGI & I Gh\lsrq_&pf

2. Rs. 237.50 / 237.50 ST
3. Rs. 239.50 / 239.50 ST

4. Rs. 238.50 / 238.50 U4

Correct Answer :-

« Rs.237.50/237.50 304

23) A train, 240 m in length and running at a speed of 72 kmph crosses a tunnel in one minute. What

is the length of the tunnel? / 240 ﬁﬁ@éﬁﬁl’\qﬂ%ﬁn %:ﬂm%@ﬁ?“aﬁwﬁqfﬁ
TR Hel 8 | FRIT &1 aaTg fopa- 872

1. 780 m / 780 HI.
(22)



2. 820 m/ 820 H.
3. 960 m / 960 HT.

4. 1000 m / 1000 HI.

Correct Answer :-

. 960 m/ 960 Hi.

24) If20% of X = 30% of Y, then X:Y = ? / Tf& X BT 20% = Y BT30% , dl X:Y = ?
1.3:2

2.2:3

3.1:2

4,2:1

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / A% i3 T4 IR val & @ Fi= 0 13 ud & i TH= P9 A1 T T8 82

Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(i) Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(ii) Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(23)



(iii) Abby Abbot
#4 — 1st floor, 72
Richefond Circle — Ridgeside offices,

Umhlanga Ridge 4319, South Africa

(iv) Abby Abbot

#4 — 1st floor, 72

Richefond Circle — Ridgeside offices,
Umhlanga Ribge 4319, South Africa

1. iil

Correct Answer :-
o 1V

26) Ram scored following marks in the Exam out of 100 for each subject:
English: 85

Hindi: 75
Mathematics: 92
Science: 88

Social Sciences: 85

Find the average marks scored by Ram in the 5 subjects?

/ I\ &1 e o 100 § A fafr v | g o v g
3 : 85

ff :75

T : 92

fagm : 88

T fas= : 85

ural fawal o 79 gRT e fe Y S ofd T ST

1.83
(24)



2.82
3. 87

4.85.2

Correct Answer :-
e 85.2
27) CANCELLED

A train passes a truck coming from the opposite direction in 9 sec. If the speed of the truck and the
train is 90 kmph, then what is the length of the train? / fauR¥a f&=IT & 31 75 TH < B TH ¢ 9 .
T UR Rl 21 afe T &Y fa 90 forei/d 8, Y 7 &) warg fopat 82

1. 330 m / 330 HI.
2. 450 m / 450 H.
3. 430 m/ 430 H.

4. 300 m /300 Y.

Correct Answer :-

e 450 m /450 HI.

28) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T'ﬂa'iﬁTlg H@Fﬂﬁ, &Ry GﬁTﬂ'@TGﬁfﬂWWﬁlﬁ?{%I TeTd HAIST ggdT=e:
i.news8799wens

ii.news8799wens

ili.mews8799wens

iv.news8799wens

29) Find the average. r3ire Ao

10, 20, 30, 35, 40 & 45

(25)



1.24
2.26
3.32

4. 30

Correct Answer :-
« 30
30) The square of 53 is: / 53 Wa‘fﬁ'ﬁ{a‘ﬂ

1. 2,809

2. None of the above /E:Iff 3 aﬁs“ :I_Gp[
3. 2,800

4. 2,806

Correct Answer :-

Topic:- Science and Simple Arithmetic

Yol s (Yisequalto: £ (AR + (2F sad wEE

-4y
Solve forx:ifv__; =—1/ x & fow aver & : if__:z_%
1.3

(26)



3)

2
*5

1.
43
2. 5
5%
5

3.
1
5_
4, 5

Correct Answer :-

: : , 2x%— 3x—5 . 2x%— 3x—5
The quotient obtained when —————1s: / 9§ —————— vy &g, ar
x+1 x+1
gred SETG b
1. 2x+ 1
2.2x-5
3.x-10

4.x-5

Correct Answer :-

e 2x-5

5) In a circle of radius 17 cm, if a chord is at a distance of 8 cm from the centre of the circle,
then the length of the chord is: / 17 9l AT Il T g, A TH AT g H H5 A 8

(27)



T Dt g IR B, T SildT D GaTS 6
1. 24 cm / 24 9Ht
2.28 cm /28 I
3.30 cm /30 94T

4,20 cm /20 I

Correct Answer :-

« 30 cm /30 J9t

6) Find the compound interest of Rs. 5000 for 2 years, if the rate of interest is 10% per

annum. / 2 T4 ¥ T 5000 TUT 1 THglS TS 719 B2, fS =a1eT 2 ufd a9 10% &1
1. Rs.1025 / 1025 ¥UT

2. Rs. 900 / 900 FUY

3. Rs. 1050 / 1050 $UT

4, Rs. 995 /995 24Ul

Correct Answer :-

« Rs. 1050/ 1050 %YY

7) The maximum daily temperature (in °C) of a city on 7 consecutive days is 33.5, 29.3, 25.7,
24.2, 38.1, 34.3, and 31.9. The range of the given data is: /WW%WW%W
arfereaH %ﬁwarmqﬂ F& AFRTTI A) 33.5, 29.3, 25.7, 24.2, 38.1, 34.3 AUT31.9 €1 few
T ST BT IR &:

1.10.1°C
2.13.9°C
3.7.8°C

4, 12.4°C

Correct Answer :-
e 13.9°C

8) Intestine absorbs the digested food materials. What type of epithelial cells are responsible for

that? / 351 U §U el USTAT ) TN el 21 fFd TR o) SuFHdar HIRIee, 39 & forg
IcRerl gkt 82

1. Glandular epithelium / T g

(28)



2. Cuboidal epithelium / IqIh R SUD I
3. Columnar epithelium / TTHIPR b Al

4. Stratified squamous epithelium / IR Qeeht Ul

Correct Answer :-

« Columnar epithelium / TGHIPR IUDBAI

9) The magnet used to lift and transport heavy loads like big metals, steel girders and scrap iron
objects for loading and unloading purposes is known as: / Y 4R 99 & 4 'il'lﬂ\%ﬁ, a1
RN TUT BHY I BT aXgeNl DI AST T SFAATSIT IEAT & 1T IoTH aUT UlRag 3g W
B aTel Jra (A S g:

1. Electromagnet / é@?@@m

2. Diamagnet / U[%IW

3. Permanent magnet / @-ﬂg SLSC
4, Paramagnet / D

Correct Answer :-

 Electromagnet / W

10) Give the other term for red blood cells. / AT Yokl HioTRT3N & %’EW RICACGIELY
1. Erythrocytes / TRYUNEE

2. Leucocytes / W

3. Chondrocytes / ﬁ:@w

4. Osteocytes / &mﬂﬁ_ﬂ

Correct Answer :-

o Erythrocytes/ Eﬁﬂ-lﬂléa

11) The function that is not influenced by estrogen is: / UBTd Sl Q@FF-T Jq yHifaa T'I'Eapf'é;']?ﬂ %z
1. Release of eggs from the ovaries / SRl ¥ 38l wﬁﬁaaeﬁn

2. Formation of sperms / W&h &1 fafor

3. Development of the breasts / I &1 fadr™

4. Menstrual cycle / % dah

Correct Answer :-

» Formation of sperms / W&h &1 fmfor

(29)



12) The first nuclear reactor was set up in India at: / HIRd | qgdl EIRIGdp] ﬁw qﬁ'\mﬂhﬁ'
fParmar Ut -

1. Rana Pratap Sagar / XTUIT YUY YR
2. Trombay / ?jlﬁ

3. Tarapur / dIRTYR
4, Kalpakkam / P cIUdh H

Correct Answer :-
o Trombay / @jﬁ

13) During waste water treatment, large objects like plastic bottles, plastics, and cans are removed

by: / SUFRTY 9 ITAR & R, WIke® ot Jiaa, wiieed, ad7 el 3nfe Sl 7t axgan &t
Y% gRT g™l SITdl 3:

1. Bar screen / R &h1-
2. Filtration / fFedE

3. Aeration / dld-

4, Chlorination / IR

Correct Answer :-
o Bar screen / IR &hI

14) A group of stars that appear to form a pattern in the sky is called ./ ARI dTde g T
STHTRI H TSP TP ITal gl feTar g, Fearar gl

1. constellation / ARTHS T
2. comet / W

3. asteroid / xUo
4. meteor / 3eh]

Correct Answer :-

« constellation / ARTHS

15) On placing an inverted tumbler over a burning candle, the candle flame extinguishes after a

sometime. This is because of: /wsﬁﬁmﬁwﬁgﬁ‘mﬁﬁwwﬁwwwmﬂ
Hroah B o g1 STl B | SHPT BRI T 2

1. Ignition temperature being low / Usdel-dlY Pl hH 5l

2. Non-availability of wax in the candle / ATHSRN H TIH B UK/
‘ (30)



3. Non-availability of carbon dioxide / CARE S'I_Q'm P STFUIIdl
4. Non-availability of oxygen / SRS BT STFUAKI T

Correct Answer :-

« Non-availability of oxygen / 3eRITSI BT SHFUASRI T

16) Sonam added a tablespoon of salt in a glass of water and stirred it.The salt disappeared. Identify
the type of change in it. / TFH = TP R U # U TST1 TWHT 9 SIAHR 39 FHaman | 796
TS B 11§99 g1 el aRade & YoR 3 ugar sl |

1. Biological change / 9w aftad

2. No change/ﬁgmﬁm%
3. Physical change / 1fae uftads

4. Chemical change / e ulkada

Correct Answer :-

» Physical change / 1ifae aRadq

17) Name the tree which is planted all along sewage ponds. / qIfgaud dard F PR fPaTeRF
& T S 2 1

1. Teak / NI
2. Silver oak / RicaR 3%
3. Pongamia / BIUIEE]

4. Eucalyptus / W

Correct Answer :-

 Eucalyptus / W

18) Name the vaccine used to prevent typhoid. / CISWPISS B APUYTH & m Ugdd ﬁﬁ arat
IR+ (1) BT ATH FAIETI

1. BCG / SISl

2. Oral drops / Hifg® Cf'j’t[

3. DPT vaccination / SIUIC] &1 CiehT
4. TAB vaccine / Z&Qé)[ CAKEE]

Correct Answer :-

« TAB vaccine /€ Q§| CAKICA



19) The decomposers in an ecosystem: / T RS a3 7 Sroae®:

1. Convert inorganic materials to organic compounds / BIED USTf B Brai-d Terdf H FuiaRd
A

2. Convert organic material to inorganic forms / P Terelf B P Terf § Taialkd Hd 7 |

3. Convert organic material to simpler forms / FIEHE Terdl B TR WUl § SUiaRd Hd ¢ |

4. Do not breakdown organic compounds / PIEHD TR BT U :I_ESD[W %I

Correct Answer :-

« Convert organic material to simpler forms / FHIE Teref BT TR WUl § FiaRd Hd ¢

20) The area of an isosceles right triangle of equal sides of 24 cm is: / 24 It IHE ‘HFITGﬁ
ITelt TP FATGETE THSI0T Y o1 &% o

1. 254 cm? / 254 THI2
2. 246 cm? / 246 THI2
3.288 cm? / 288 U2
4,292 cm? /292 2
Correct Answéf -

« 288 cm? /288 THI2

21) which of the following is the factor of x2 - 3x-18? / FufIfEd § & $ x2 - 3x-18 BT
TP UFES 872

1.(x+9)
2. (x-6)
3.(x-2)
4. (x-3)
Correct Answer :-

* (x-6)

22) The CSA of a cone is 165 cm2. If its slant height is 10 cm, then its diameter is: / T%

T PT 9% YHT &% d 165 T2 31 afe sua favdl Sars 10 9 8, 99 swaT 9 §:
1.9.6 cm /9.6 THt
2.10.5 cm/ 10.5 941
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3.8.5cm/ 8.5 A

4.12.4 cm/ 12.4 98!

Correct Answer :-

« 10.5cm/10.5 9

23) The volume of a cubical box is 512 cm3. The length of a side of a box is: / T& ¥4
IR BT AT 512 JUB B TR F TP PR @) dars 8

1.7 cm /7 GHI
2.8 cm/ 8 A
3.9 cm /9 Ut
4.6cm/69H

Correct Answer :-

. 8cm/8@7ﬁ

24) The lengths of two adjacent sides of a parallelogram are 5 cm and 8 cm. Its
perimeter is: / TH TUMIGR IgUT & &f 3Maa Yoire &1 @ars 5 T aur 8 Tt 81 sue! ufefy
f

1.13 cm/ 13 94t
2.18 cm/ 18 IH
3,26 cm /26 9!

4.16 cm / 16 9!

Correct Answer :-

« 26.cm /2699

25) A shop keeper buys an article for Rs. 440 and his overhead expenses are Rs. 60. If he
sells the article for Rs. 550, then his profit % is : / TH gPTGR TP a¥g Pl 440 FUA |
TSI 8, TUT 59 R 60 T SHUII W9 Hedl g1 Al I8 59 a%g P 550 $UA H ST 8, d AT
Y % %:

1. 8%
2. 9%
3. 6%

4. 10%
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Correct Answer :-

« 10%

26) AB | | CD and PQ is the transversal meeting AB and CD at L and M, respectively. If
2ALP = 110°, then 2LMD = ./AB || CD %HWABQT:'ICDW PQWWWW: L
Td M fig W g1 9f¢ LALP = 110° §, 99 LMD =

1. 110°
2. 100°
3.70°

4. 60°

Correct Answer :-
o« 70°

27) ABCD is a parallelogram. If £A = 135°, then 4B + 2D = . /| ABCD Qﬁmiﬁﬂﬁ%l
afé ,A = 135°%, A9 2B + 2D =

1. 90°
2. 80°
3. 85°

4,75°

Correct Answer :-

e 90°

28) Which one of the following is not a protected area? / Ffadd s Uh Tfera &= B %?
1. National park / T@’q REIE]

2. Sanctuary / SIHURUY

3. Zoo/ ﬁﬁﬂfﬂ?

4. Biosphere reserves / ECEENARED

Correct Answer :-

. Zoo/ﬁl‘%tﬂm

29) Arthropod means: J 3mtarsT &1 3rf 8

1. Long tentacles /ﬁaw
(34)



2. Jointed legs / Gferd TR
3. Jointed body /3T TRR
4. Segmented body /TEfSTRRR

Correct Answer :-

« Jointed legs / Tfed &R

30) The hormone that controls the development of secondary sexual characteristics in males is:

/ 98 BT o1l g Ul | 1T dRfe daror & faera ot frifa svare:
1. Testosterone / CXCIRCIT
2. Progesterone / TSR

3. Adrenalin / Qg:ﬂ?ﬂ
4. Thyroxin / TR

Correct Answer :-

« Testosterone / TR

(39)



